Limiting Reactants

1. If you have 200 tires and 75 steering wheels, how many cars can you make?

2. A cake recipe calls for 3 eggs, 2 cups of flour, and 3 teaspoons of sugar. If you have:


9 eggs

8 cups of flour

12 teaspoons of sugar

How many cakes can you make? 

3. Consider the reaction of iron(III) oxide and carbon,


2 Fe2O3(s) + 3 C(s) ( 4 Fe(s) + 3 CO2(g)

If you react 5 mol of Fe2O3 and 5 mol C, which is the limiting reactant?


a. Fe2O3
b. C

c. Fe

d. CO2
4a. Consider the reaction of iron(III) oxide and carbon,


2 Fe2O3(s) + 3 C(s) ( 4 Fe(s) + 3 CO2(g)

If you react 100 g of Fe2O3 and 25 g C, which is the limiting reactant?


a. Fe2O3
b. C

c. Fe

d. CO2
4b. How many grams of Fe(s) can you form?






